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AREA BETWEEN THE CUVES (USING INTEGRATION)

Q1.Find the area bounded by the curve x2 = 4y and straight line x = 4y –2

Q2.Find the area of the region bounded by y = x2 + 2, y = x, x = 0, and x = 3.

Q3. Find the area of the circle : x2 + y2 = 4 which is exterior to the parabola  y2 =6x.

Q4.Find the area enclosed between the circles: x2 + y2 = 4 , (x-2)2 + y2 = 4  .

Q5. Find the area enclosed between the parabolas: x2 = 4x ,  y2 = 4x .

Q6.Find the area of the triangle formed by the points (2,1), (4,3),and (5,2). 

Q7.Find the area of the parabola: y2 = 4a2 (x-3) above x-axis under the constraints x = 3, y= 4a .

Q8.Draw the rough sketch of   (a) { x2 [image: image2.png]


 [image: image4.png]|x] }



  and  
  (b) {(x,y) : [image: image6.png]lk—1]<vy <5 —



}.find the area of the region enclosed.

DIFFERENTIAL EQUATION: 

Q1. Show that , y =cosx, is the solution of differential  equation  , [image: image8.png]e o



 + sinx=0

Q2 Show  that   xy =  a [image: image10.png]


 +b [image: image12.png]


 + x2   is a solution of  differential  equation  :                                                                                                         x{d 2y /dx2  } + 2 {dy/dx } –xy + x2 -2  

Q3. Solve the following  differential  equations :  

  i)   [image: image14.png]e o



  = sin(x+y)                                             ii)   ydx – (x+2y2)dy = 0     

  iii)   cosx(1+cosy) dx – siny(1+sinx) dy =0                     iv) log  [image: image16.png]e o



 = ax+by.     

 v) [image: image18.png]e o



  - 3y cot x = sin 2x, {y=2when x= [image: image20.png]


 }               vi)  [image: image22.png]e o



 + 2y = x [image: image24.png]
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   =  [image: image28.png]1—cosx
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 viii)  x  [image: image30.png]e o



 – y =  x tan [image: image32.png]


 , { y= [image: image34.png]


  when x=1}            
ix)   (1+y2)dx =(  [image: image36.png]tan ly —x



   ) dy ,      given  y (0) =0

x) [image: image38.png]


  = x+y   .   
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 = cos x +  [image: image44.png]sin x
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 +  [image: image48.png]x? + 3y?
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 = 0           

              xiii) (1+[image: image50.png]U
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 } dy = 0

xiv) [image: image56.png]e o
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  + cosec  [image: image60.png]M|



 = 0 ; y=0 when x=1

xv)    ( 1+ x2) [image: image62.png]e o



 + y = [image: image64.png]tan 1x
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